


let f (x : int) =
  if x % 2 = 0 then
    x / 2
  else
    3 * x + 1



type t a = ...
bind   : forall a b . t a -> (a -> t b) -> t b
return : forall a . a -> t a

read : () -> t int
print : string -> t ()

let c () =
  bind (read ()) (fun n ->
  if (n > 10) then print "big!" 
              else return ())



type f a = ...
app  : forall a b . f (a -> b) -> f a -> f b
pure : forall a . a -> f a

let c =
  app (app (pure (fun () () -> ())
           (print "Hello!"))
           (print "Goodbye!")



type a x y = ...
arr   : forall x y . (x -> y) -> a x y
(>>>) : forall x i y . a x i -> a i y -> a x y
first : forall x y z . a x y -> a (x * z) (y * z)

lmap : forall x y z . (y -> z) -> a x y -> a x z
rmap : forall x y z . (z -> x) -> a x y -> a z y












































